. Drill Exercise - 56

Ul in g
(7) If g Atk 2. Fill in the blanks:
P=ab‘b‘3 (i) (@+5) x(b+2)=
ke (i) (x+3) x(y+1) =
R =ca—gp 4
ThenP 4 g, g (iii) (p+2) x (9 +5) =
FoA— T | (iv) (+4) x (M+3)= ...
=a-b+qb
Q":b"ﬂ+bc 3. Fill in the blanks:
Sy () =9 x(y-2)=..
Lo (i)) (@=5)x (b=3) = ......
i
(II)If A=12+m2 (iif) (I—Z)X(l/—nz
s (1) (1= 1) (m=3) = oobid
c=n2+p
ThenA-B_C - 4. Fill in the blanks:
(iv) If e () 5 x (31 +2) =.... i
B =mn - Im (1) 2x x (2x-3) = ..
C=1Im-mn (1) Ox-2) x dx = ... .
ThEl'lA—B-—C= ..................... (Iv) (3m+2) x6m= ................. ! u-a-
(0) If A =2p%2 - | '
P:q2 o 5. Fill in the blanks:
B =
1 i 0 2 1+ 2m 6
C =5p%*-5pg !
S o oinsid o T
(vi) If B=bc+ca (1) 5y x (3x -2y +1)
C:Ca+ab ™= stiss sk
A =ab + bc (1) 3x x (x - 6x2 - 3)
e O A S s : O .—
('I?ﬁ)lf P=a+b-ab (IU) (I2_3x+2)x6y
Q=b+c-bc =
SRS | Teroie
T i L S .

&







Using identity
X+ a) (x +p) = 2
ill in the blanks.

+(a+Db)x+ ab,
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sing identity

' +b) (a-b) =

L e SR SRR :
"
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a® — b?, fill in the blanks:

Drill Exercise - 59

3. Using identities, fill in the blanks:

(i) (99)* =

-------------------------------------

(1) AOLYe .o onssmzsrrsitiss sesvvinigisrnsatin. ;
RIS L o cniarss ddairtidineses .
I UOL)E i iy s oottt
[YAIIBY = ... ovoroossiovecsReaviomentis .
(08), 2975 303 =, o5 corvet naes thecazatarmessmrin .
(Gl 983 M0 is. Liiliz o s il d :

(D) D el O = s o ransve vosramn o :

4. Fill in the blanks:
(1) (4x+3y)2—(4.x—3y)2=. .................... :

2
(i7) (%x?y} T 2P |
(1) B+ 7P 42D = .....ovorisiisinns .

0) (9x'= 5y 90xp= = S B0 :

(©) (70 =892 — (70 + 8 = «ccveonvniaconanes .

(V1) (2% + 5)% = (2% = 5P '= .cooemesssnasrocns .
(vid) (@b + BO) = 28D%C = ovoivssnamsnsnsais :

(viii) (a-b) (@a+b) +(b-0) (b +0) +

e DGR ) T S e :

(ix) a(b-c¢) + b(c—a) +c(a-Db)




B W = e =

{ Fill in the blanks:

7. Fill in the blanks:
: - ' f a rhombus are 16 cmr
(i) Area of the quadrilateral (i) The diagonals 0 p
ADCDR (o vty cm2. and 30 cm. Its area = .............o... cme.
- (i) Area of a rhombus is 240 cm?. If one
3 cm of the diagonals is 30 cm, then another
A AR =30 diagonal = ...........ccccenv cm
el (iii) If area of a rhombus is 120 cm? and one
g
(if) Area of the quadrilateral of the diagonal = 10 cm, then the other
diagonal = .................... cm.
PRORSS = | vttty o) cm?
. (iv) If the diagonals of a rhombus are 12 cm
< ||II ¢ xﬁ"ah 3 -
k{a% b and 7.5cm, thenitsarea=.............. . CIR.
PN S U MRS
0L SRR '-;x,;n_,ds '| (v) Diagonals of a rhombus are 8 cm and
: R d S || Gem. Its areais ... .. teeess cm?.
Qi |
o
S (vi) Area of a rhombus is 252 cm?2. If one of
and area of AOPQ = ............... cm2. the diagonals measures 28 cm, then
(111) Area of the quadrilateral other diagonal = .............. cm.
LMING =", .5 SaEE - z
L ... cm2. (vii) Area of a rhombus is 96 sq. cm. If one
' of the diagonals is 16 cm, then the other
6.cm diagonal = ... ... cm.
9 o 1zem y (viii) Area of the rhombuys ABCD
dcm , T ks cm?.
N ] A
. "N
() Area of the quadrilateral PQRS | R
T se s il cm?, 16 em \
* ‘
8
7 & |
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~hoose the correct answer and fill in the
| hlanks:
(i) The area of four walls of a room
e x height of the room
[2(I + b) / 2( x b)]
(if) The total surface area of a cuboid

_ lateral surface area + ..................... :

[2 x area of base / area of base]

iii) If the height, length and breadth of
» box are 20 cm, 15 cm and 10 cm
respectively, then the total surface area

(1300 cm? / 650 cm?]

(jv) Surface area of a cube

=i (edge)*. [2 /6]

(v) Lateral surface area of a cubical box

[2/4]

[73.5 / 24.5]

(vii) Total surface area of a cube of

side 8 CMiS ..oovvvvvevireennnnn. cma.

[128 cm? / 384 cm?]

(viii) The total surface area of a cuboid
having length, breadth and height as
|, b and¥as e v .

(21bh / 2(Ib + bh + hi)}

2. Fill in the blanks:
(i) Lateral surface area of a cube of edge

: 2
10/ CINLAS . os - eauszaossess cm®.

(ifi) Lateral surface area of a cuboid having

length, breadth, height as 6 cm, 4 cm,

. : 2
2 cm respectively 18 ........ocooeeeees cm”.

(iv) Lateral surface area of a cuboid having
length, breadth, height as 10 cm, 4 cm,
ACINIS o5 Rieedinaaess: cm?.

3. Fill in the blanks:

(i) Area of four walls of a room having
length, breadth, height as 12 m, 8 m,
4 m respectively 1S ...........ocoeeee. m-.

(ii) Area of four walls of a room having
length, breadth, height as 10 m, 9 m,

3 m respectively is ... m-.

(iii) Volume of a cuboid having length,
breadth and height as 8 cm, 6 cm and
4 cm respectively is ... cm®.

(iv) Volume of a cube of edge 8 cm 1S

(v) The internal measures of a cuboid are
12 m x 8 m x 4 m. Its total surface area

m
—
"TEEEEENEEEE N N AN L]

RS OHIME I8 i i v ranaaans m-.

(vi) If total surface area of a cube is 600 cm?,
then its edge = ....ovoiiiiiinina cm.
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